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3 25 . A Uo V
Pc W
4 Pe W v A U, V
S
2
4-20
—
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4-20
1 lg= Py-P, 13U
2 lo = /15 - I
3 P =P¢ /1
4 low =1 Uy /U
5 o = Pa/3Uy
6 oo = /T~ Viom
R = P/l
7
R =R +KR,
3
4%
1 A/mm
2 ON' =l
3 N'N N'N =y
4 NU NU N'N a Sna=2,R /U,
5 O5' =lyg
6 S B! =l
7 NS NS
8 NS NU  C
9 C N
0 s W NU
1 U T TU=J R/R NT
2 T, NT T,
B T, TT., NU ™ T
14 T.. N-m
T =950 x3U A T,T'- g/n, =867 U, A T,T'.- pin,
U— v
A— A/mm
1T, — T, T. nm
f— 10KW 09
10KW 10



T

4-36

421 s P,
4-21
1 lo
Po P
2 k= 2~25 1y
1 Uk Ik P«
3
R, S
P, 0.5%
1 lr = Po - Py 13Uy
lor
2 2 2
2 lox = V/lo - lor
lox
1 IKN = IKUN /UK
lin
2 Pw = Pe Uy 1Ug 2
3 P
3 linw = Py 13Uy
livm
4 IKNX = IiN - |f<NR
o
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K= IKNR - lUR

H= IKNX - |o><

r=05H+K/H

e = /KT H

K, = 15R, /U,

tang = H/K, B tan B/2

7 T =3rU, tan g/2

8P, = P +P,+P, /1-5s

o g~ W NP

Ki = T/ Ty = yT/ P,
10kW
0.9 10kw
1.0

1/13~1/7

1/3

_
Tk an (1)
\AA
@] N n
4-37 ;
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U, 0.95~1.05 U,
UN Tmn

7)2

T

Tm nt

GB 1032—1968
T 1032—2005

mint
Tm’n = Tm’nl(

U, <0. 95U, 1/2~2/3 U,

min

4-37

95% ~ 105%

19T =T 10U,

GB 1032—1985

1/4~1/3 U,
4-38

4-76

GB/

4-39
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(a) (b)
4-38
a T=f n b T=f U
3.
1
2
.8 1/13~1/7
| Y |
S1 S2
T1 T2 3
I.U.r u.p
MERL MERL

B R

1.0



4-38 a
U

minl

438 b

10s

T=f
T=f U,
It Tm’nl
4-39
UKl
UKl
UKl
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GB 10068—2000
56mm
IEC 60034—14 1996
50MW 600 ~ 3600 r/min

GB 10068—2000

\Y Y mm/s

1000kW 2 4

1/50

« » « » 4-41

231




232

=T )
¢ ?FEM
DZ-2 C
4-40
400
10%
ny r/mn
0.4
f Hz 4-77
-n
=50
n— r/mn
fO HZ 4'78
-1 /K
fo 2m m

250

4-41

4-42

1/3

400

1/10

1.2

4-77

4-78



(a)

W 3t P AR

I.1a

4-41

K m

g g =9800mm/s’ &

1 g 1
f =— — = 0. _—
0 ZWN/; 05\/;

5 =025+

s

4-78

h_n
60 180
n

4-79

4-80
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24
22
20
18
g 16\
£ 1 \\
£ 12
10
8
6
4
2
0
600 900 1200 1500 1800 2100 2400 2700 3000 3300 3600
nN(r/min)
(a)
/
DO_ %
: -
] E
|\
(b) (c)
-42
a §-ny b [
8100
8 =" 481
n
4-42 a 4-81
4-22
4-81
4-22
K 600 720 750 900 1000 | 1200 | 1500 | 1800 | 3000 | 3600
ny r/mn
22 15.5 | 14.5 10 8 5.5 3.5 2.5 0.9 0.6
§ mm




400

2
25%
@ 10% @2
5% 31 2 5%
25%
Vil
B5
Y,
4-43
S

(a) (b) (c)

443 V1 BS
a Vi b B5
c B5 \Y
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4-44
4-44
1 445 a
2 445 a
445 b
®
@ ®
3 445 ¢
1
2 2 2
4-82
_ /1
Vims = )5 (Vo + Vi) 4-82
vV —

max



4-23

N R S 3
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\
400
4-23 0.45 0.71 1.12
1. 8mm/s
+10%
2
2 2
H>225mm 2
2
4-23  H>400mm
4-23 mm/s
r/min 56 <H<132 | 132 <H<225 | 225 <H<400 H >400 H >400
N 600 ~ 3600 1.8 2.8 3.5 3.5 2.8
600 ~ 1800 0.71 1.12 1.8 2.8 1.8
R >1800 ~ 3600 1.12 1.8 2.8 2.8 1.8
600 ~ 1800 0.45 0.71 1.12 — —
S >1800 ~ 3600 0.71 1.12 1.8 — —
—
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GB/T 10069. 1—2006

1 GB 10069. 3—2006
2
GB/T 10069. 1—2006 GB/T 10069. 1—1988
GB 10069. 2—1988 GB 10069. 3—
2006 GB/T 10069. 1—1988
1SO 1680 1999
“ " wPa
1Pa=1N/nt :10'5b:10Mb:0. 1mm 4-83
L, = 20 - 484
L0— dB
P—— wPa
Py—
20p.Pa
dB
1/10
20p.Pa 20 x10° pPa 10°
0 ~120dB

239



240

w/nt
dB L,
L = 10Ig|—
lo
|— w/nt
l,— W/n? 1,=10""W/n?
Lw
- w
L, = 1O|9W0
W,—— W W, =10 *W
S
Ly, = L, + 10|g§
S
n’
S— m S =1nt

dB

4-85

4-86

4-87



“
3 A B C
A 500Hz
20 ~ 20000Hz
20Hz “ " 20000Hz “ ”
3000 ~ 5000Hz
A B C
A
4
4-24 I
” 4-46
4-24
0 I I I
dB +0.4 +0.7 +1.0 +1.5
400
[ |
241




d

() (b)
4-46

5m

GB 10068—2000
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V1

GB/T 10069. 1—2006

225

r=0.4m

C

4-43

GB 10069. 1—1988

Im

90
S=2qr* =2 x
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s

3.14 x0. 42 ~1n? 100 r=1m
S=2qr’ =2 x3.14 x1* ~6. 28n"

3 250mm
4 90
4 20 225 4
1mm 1 4-47
2.
225 im
im
250mm 4-48 a
im
4-48 b
L M H 4-49 a =0.5L+1 b=0.5M
+1 c=H +1 S nt

_4Cab+bc+cCa+b+0

S a+b+c+2

4-88

5dB
450 a
450 b
5dB



L 250mm

GB/T 10069. 1—2006
GB/T 10069. 1—1988
LH LT I-T - I-H =AL dB
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..,2_\\\!_

\_————

/A\\ \\i\\\\\-_
()
73
- __
1
B
<= ] = T =1m
L
PR S B
1m 1m 1m
-~
£ |

g
S
[
(b)
4-48
a 5 b
1 AL >10dB
2 AL <4dB
3 4dB<AL<10dB L,




~

jasd
= =
_ | J
HHRANB L
N
=] || = = s
: 1
_ il | -
(a) (b)
4-49
a
~ (10) g3t
@ (b)
4-50
a b
K, 4-25 4-25
4-25 K, dB
AL dB 4 5 6 7 8 9 10
K, 2.2 1.7 1.3 1.0 0.8 0.6 0.4
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\
L, =65dB L, =71dB
AL=L,- L, =71- 65=6dB 4-25 K, 1.3dB
L=L;- K, =71- 1.3=69.7dB
0.5dB 4-
89 K,
K, = 10Ig ( 293 i) 489
293 +t 100

| [—
P,— kPa
2

L:ii L, - K, 4-90
n &

n—

J—
Li— i dB
K,—— dB

5 72 75 74 73 71 dB
65dB
15 72+75+74+73+71 [/5=73dB
2 73 - 65 =8dB 4-25
0.8dB
3 73 - 0.8=72.2dB
0.5dB 72dB
L
|
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L = 10lg [%2 1001 ke ] K, - K, 4-91

1

Li— i dB
Ky— i dB
K,—— dB
Ki— dB
0 491

5
L=10ig[ £ ¥ 10" |- 0-0
i=1

7.1 7.46 7.34 7.22 6.97
:10|g[1° +10"* +10"* +10"* +10 ] - 7252
5
72.5dB
72.52 - 72.2=0. 32dB 0. 44%
4-87
225 im
1 0.4m 2x3.14 x0.4 =
1.0048~1n? 4-87 S=1nt 10lg 1/1 =0
Ly =L
2 im 2x3.14 x1% =6. 28n7
4-87 S=6.28n" 10lg 6.28/1 =8
Ly~L,+8
225
im S 4-88
4-26 Y 1P44 Y2 IP54
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250

+0. 2dB
s
4-87 10lg>
S
4-26 Y P44 Y2 1P54
mm 250 280 315 355 400 450 500
10lg SIS dB 12 12.2 12.7 13.3 13.7 14.5 16
Y2 IP54
4dB
AL
AL
1
2



GB/T

1996

16539

4-51

ZC-41

ooooooo

4-51

2006

D

GB/T 1006. 1

2dB

—
251

- 1dB



252

225 im 1/2
90° 1/2
4 225
1
2
5.
1 S nr
H m L m
S =8H H+L
2
Lo Lun

Luo = 101g[ ( ilO”‘““)/n] +10IgS,

Lan = 101g[ ( zn“loo-“w)/n] +10IgS,

3
LW\O wwn
Lo = 10lg 10 ™= +10%*~
L., = 10lg 10® ™ +10%*~
4
A
A =L, - L
GB 10069. 3—2006
GB 10069. 3—2002
A
A
427~ 429 427 428
A

im
90°

4-92

4-93

4-94

4-95
4-96
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4-30 50Hz 60Hz
4-27 ICO1 IC11 IC21 1C411 I1C511 I1C611
A dB
Pu 8 6 4
kw 50Hz | 60Hz | 50Hz | 60Hz | 50Hz | 60Hz | 50Hz 60Hz
10<P <22 71 7 71 7 71 71 81 85
2.2<P,<5.5 76 76 76 76 76 76 86 88
5.5<P, <11 80 80 80 80 81 81 91 91
11 <P <2 84 84 84 84 88 88 94 94
22 <P, <37 87 87 87 87 91 a1 9 100
37 <P, <55 89 90 90 91 94 95 98 101
55 <P, <110 92 93 94 95 97 98 100 104
110 <P, <220 9% 97 98 99 101 102 103 107
220 <Py <400 98 99 101 102 105 106 107 110
4-28 4-27
A dB
i <960 960<n | 1320<n | 1900<n | 2360<n | 3150<n
<1320 | <1900 | <2360 | <3150 <3750
A|lB|A|B|A|B|A|B|A|B|A|B
c|bp|lc|bp|lc|D|Cc|D|C|D|C|D
Py kw A dB
1<P,<1.1 73|73 |76 | 76| 77|78 |79 |8 |8 |8 |8| 88
1.1<P, <22 74 | 74 | 78 | 78 |81 |8 |83 |8 |8 |8 |8 | 91
2.2<P,<5.5 77 | 78 | 81 |82 | 8 |8 |8 | 90 | 89 | 93 | 93 | 95
5.5<P,<11 81 |8 |8 |85 |8 |90 |9 |93 |93|97 |97 98
11 <P, <22 84 | 8 | 88 |8 | 91 | 94 | 93 | 97 | 96 | 100 | 97 | 100
22 <P, <37 87 | 90 | 91 | 91 | 94 | 98 | 96 | 100 | 99 |102 | 101 | 102
37 <P, <55 90 | 93 | 94 | 94 | 97 | 100 | 98 | 102 | 101 | 104 | 103 | 104
55 <P, <110 93 | 96 | 97 | 98 | 100 | 103 | 101 | 104 | 103 | 106 | 105 | 106
110 <P, <220 97 | 99 |100 | 102 | 103 | 106 | 103 | 107 | 105 | 109 | 107 | 110
220 <P, <550 99 |102 | 103 | 105 | 106 | 108 | 106 | 109 | 107 | 111 | 110 | 113
1 “A 001 111 Ic21 “ B Ica11
IC511 1CB11
2 “C P22 IP23 ‘D P44 IPS5
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4-29 1P44 A
w 6 ~50 >50 ~ 250 >250 ~ 750 >750 ~ 1000
r/mn A
1500 60 65 70 75
3000 65 70 75 80
4-30 A
Py
8 6 4 2
kw
dB
1.0<P <11 8 7 5
11 <P, <37 7 6 4
37 <P, <110 6 5 3 ?
110 <P, <400 5 4 3




GB 755—2000

Y
, Y2 IP54
GB 755—2000
Py Uy
nN
GB 755—2000 “
1 P, <315kW U, <1kV
1.5l 2min P, >315kW
2
1.
1 1.6
2 @
2.
1

15s

255



256

15

2 4.5l
1. 1 1.6
15s
1
115%
1.3
@ 3mn @ 130%
1min
2
2min
1 1.2
1.2



A W N P

1
2
1
30s
2
5min
3
4
1
4-31 E B F H
4-31
E ‘ B F H
30s 5min
215 225 240 260
165 175 190 210
1h 215 225 240 260
1h 190 200 215 235
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3 1000V  1min
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GB 4942. 1—2006
IP
“
1 2
1~4
10%
1000V
1000V
“
50*3®mm 45 ~ 55N
“ o
452
|
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\J
90° 10N
40V
7 2
180 5+0.5
80
60
30
14 '
Peres S 1[0 . Iz
R2£0.05 A = (_ 5 ¥/
90° 90° 50
AT 1
o) SR
B—B
A—A
T
HA T
A/I_ BRI _ %
134%%/\1LL\<>\_<>JI_ JL )
’f/
4-52
2. S
12.5"2%mm 27 ~33N
[ |
260




2.5"2%mm

“ g

1 +8.05mm

2.7~3.3N

0.9~1.1N

75um

2kg
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80
53
40 60
40
20mbar 80
2
2 3
2.
1mm
“ g
“ g
“ g
3 ~5mm
3 ~5mm

454

60

2kPa 20mbar

“ g

8h

4-54

2h
2kPa



PSR R R ORI RN, R 5 E 2 H

0.067 ~0.074 L/min

60°

T T Fi &8 WA oK 4L
i__—__—__—___—__—__—_i -
| = = === =1
g | |
| |
| |
S _
v 11t ||J |’_| b o
T 0 1
20 20
4-54
10min
w o
“ g
4 2.5min 4
15°
10min
455 1m
4-56
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Ehk I
T

4-55

10min



9.5~10.5 L/min 80 ~100kPa 0.8
~ 1. Obar
imin 5min
“ g
4-55 4-56 G
1.
180°
“3 60°/s
2.
“ g
4-57
Nt 77 7
| &} & - 2
“
48] 13| 20 |s
4-57
6. 3mm
11.9~13.2 L/min
3 30kPa 0. 3bar
2.5m 458 1
4 1min
3min
5 3m 4-59
|
265




9r "
r 100kPa "y
R
r i
T il 1 12.5mm
o s 2 95-105 L/min
z sl gt 3 100kPa  1bar
% L E: 8m 458
i ol
E:i .
l:: 1min 3min
j 5
l 3m 4-59
U
458
1—  30kPa O.3bar “
2.5m 2—  100kPa 1 -
1bar 8m
4-60
150mm
Im
30min

//
e

s
4

5% KJE30kPa
64%: JKJE 100kPa

4_59 “ 511 “ 6”
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5K
2. —_—
—_g=—O == g
. —— = 10kPa
| = = === £ 0. 1bar imin
T —__ A
e 461
=4 8
460 “T
“
1
FAMEANATEIE
=\\: it 5h 88 10kPa
KA
461 “ T
2 15min
50%
125%
GB 755—2000
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kg
G:)Z

(;:)2

Bl

50kg

4-99

kg

4-98

4-99



o> ¢ [ITL
q > (W D

(a) (b)
4-100

4-63
2m

269




1 10°
T s
2 J kg nt
3= Tmgab _ 5pg5 T mab 4-101
4n°L L
T— s
m— kg
— g=9.81m/s
a—o-o m
b— m
L— m

nnnnnnnn

4-63

10%

270




10kW

3-8s 1 ~ 10kW 1~3s
4-64
0 o,
T AP
e 7N 6
7 s
// \\
//I \
\
S| =] ,’l - \
/I \\\
! \
/ \
! \
/ ¥ \
/ \
7 |
T\
<is° ‘y\
4-64
1 15°
Ts
2 J kg- n?
4-102 4-103
T m +m, L
g= M 20y g~ 0.2485TF m+m, L-J,- 3,
4
4-102
ng 2
3= mar(4 9. r) = mr 0.2485T° - r 4-103
T
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272

1.1

0.9
At

kg
kg
kg
m
kg
g=9.81m/¢
P
1.1 0.98
4-65
5 = 9L 2P,At
" nyAn
W

3

J,=m, 0.5r"+&

J, =0.252m,
m

1.05

An r/min An

4-104



ny—— r/min

1\ s v s 11
J) i) W i

4-65
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K | =

%

WA

A

JR3555 550N NRRRRRNNANNAN

4-66

4-66

500mVv

100mv



GB 14711—1993

GB/14711—2006
GB 12350—2000

GB 14711—2006

660V 160
5mA
4-67 a M
e T GHARET 1 J____AJT
T - :
Sa : : :
=]
Sb | : :
3L !
ToT .
Sc + PE! FB_
T BISF (i abisf i) l___TA__J
LM
(@)
R 1500Q
R Cs Oljp Ry ong L
. 000 00091 |V
B
o To.0062uF
(b)
4-67
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467 b

105%

L1 L2 L3 N

Sa Sb Se [~

—-—[H|H I_\J

]

%

3

4-68

1.06

S



Y13254
2005 B

kW N- m

GB/T 1032—
Vv A O
W
r/mn S
4-32
500V
4-33

277



278

4-32
PN UN I N fN nN
kw \% A Hz r/min
Y132S4| 5.5 380 11.6 50 A 1440 B SL 1411
4-33
u—Vv Uu—w V—W
MQ 500 500 500 500
A 0.2
6, Ry
Q 9% R Q
A
4-34
4-34
Q
R, Q
1 2 3 0,
Ul—V1| 1.317 | 1.318 | 1.319 | 1.318
Ul—wi1| 1.316 | 1.318 | 1.320 | 1.318 25.0 1.318
W1—U1| 1.317 | 1.319 1.320 | 1.318
235+25 _
5 R Q 1.318><235+25—1.318
25 R, Q 1.318 x1.5=1.977
0.9
7 4-35
1 e A
2 P, W



3 T = F-F F
F, “ » N L
m
4-36
B
1 l.=f U, P,=f U,
T, =f U, 4-69
Pr(kW) Ik(A) Tx(N-m)
30 150 225 - Px=f (Uk)
: |
I i
0 75 150 | k=1 (Uk)
o 1
L I
- |
0 75 __ llk:f(”K)
F I
L I
I |
O_" rear i R ISR B
100 200 300 Un400 Ug(V)
4-69
2 U =Uy L
P Tin 4-36
3 I, =2.5l,
Uy Py 4-36
4-35
Uy Iy Py
Y, A w F
N
Uy Ikt I Iks W W,
1| 950 4 8.17 | 7.70 | 7.80 10 68.5 | 2.0 400 | 11.6
2 | 80.0 4 6.25 | 6.10 | 6.20 10 45.2 | 0.4 400 8.8
3 | 1285 2 9.70 | 9.03 | 9.32 5 107.5 | -1.0 | 100 6.5
4 | 107.2 2 7.50 | 7.12 | 7.48 5 70.8 | -1.8 | 100 5.2
[ |
279




280

Uy I Py
Y, A w F
N
UK I K1 I K2 l K3 Vvl VVZ
5 | 83.0 2 5.50 | 5.24 | 5.18 5 37.4 | -20| 100 | 46
6 | 124.0 1 757 | 735 | 730 | 25 | 770 | -7.0| 25 4.0
7 | 785 1 453 | 440 | 438 | 25 | 280 | -3.0| 25 3.6
L 1m F, 3.4N
4-36
UK I K PK TK
Y, A w N- m
1 380 78.90 28200 80. 42
2 320 62.73 18240 52.96
3 257 46.75 10650 30. 40
4 214. 4 36.83 6900 17.65
5 166 26.53 3540 11.77
6 124 18.52 1750 5. 88
7 78.5 11.09 625 1.9
U, = U, =380V low 79.8A | P, 28.223kW Te 80.12N- m
lg =2.5l, =2.5x11. 6 =29A U, 158V P, 3.203kW
50N- m
5. 5kW
0.5h
1.2
0.5h
Ul—vi1i 4-37
4-37



380V 50Hz

8: 30 | 9: 00 | 9: 30 |10: 00 |10: 30 | 11: 00 | 11: 30
kw 550 | 551 | 550 | 550 | 550 | 550 5.50
N- m 36.4 | 36.5 | 36.4 | 36.3 | 36.4 | 364 36.4
r/min 1448 | 1447 | 1447 | 1446 | 1446 | 1445 1445
Iy 4.64 | 4.65 | 4.65 | 4.64 | 4.64 | 4.65 4.64
(PR I Pt 25 465 | 464 | 4.65 | 465 | 4.65 | 4.65 | 4.65
A s 464 | 464 | 465 | 464 | 4.64 | 465 4.64
P, W 6880 | 6881 | 6879 | 6879 | 6879 | 6880 6880
4.5 | 50.2 | 53.0 | 545 | 55.2 | 55.6 56.0
30.8 | 485 | 5.2 | 525 | 54.5 | 54.8 55.0
24.4 | 246 | 250 | 25.4 | 259 | 26.0 26.1
285 | 320 | 350 | 385 | 388 | 39.0 39.0
41.5 | 425 | 43.0 | 440 | 450 | 45.0 45.0
I 243 | 245 | 248 | 252 | 258 | 25.9 26.3
| 24.2 | 245 | 249 | 252 | 258 | 25.9 26.3

ly= 4.64+4.65+4.64 x2.5+3=11.61A
§,= 25.8+25.9+26.3+25.8+25.9+26.3 /6=26
56 55
45 / 26/39
1 2 3 4 5
t s 15 28 39 50 60
u—v QO  x1 1.61 1. 604 1.599 1.594 1. 589
Af= LF;MR“ 235+0, +0,- 0,
a9 =1.6082- L1318 »o5 .05  +25. 26=55. 26~55K
1.318
4-37
R, =f t 4-70
GB 755—2000 GB/T 1032—2005 1 15s
5. 5kW < 50kW 1 30s
1 1.610Q

281



282

R(Q)

1615
1.610 I
1.605 _
1.600 _
1.595 -

1.590

1.585

1.580

R=7 (1)

4-37

57. 39K

30s

10min

3807 x (i +i): 144400 x (
R\/ "WV
R, Rw
750000 200000 1
4-38
438

55. 26

.40.

1 L L 1
50 60 70 (%)

t =30s

4-70
1. 6140
2.13K

1 2 )

75000 © 20000

16. 4W

1. 6032Q)
55K



380V 50Hz
Iy P
A
R, T n P,
Ill IlZ |13 Il Wl WZ pl Q N m mn W
1(5.55|5.56 542 | 25 |13.78(52.0 | 25.1 | 100 | 7710 | 1.610 | 43.43 | 1451 | 6600
2|5.01|500|4.87 |25 [12.40|46.9 | 22.0 | 100 | 6890 | 1.609 | 38.57 | 1456 | 5937
3|4.40|4.40 | 4.21 | 2.5 |10.84|40.7 | 18.0 | 100 |5870 | 1.607 | 32.84 | 1462 | 5076
4/3.90(3.90(3.71| 25 |9.59 [36.0 |14.5 | 100 | 5050 | 1.606 | 26.33 | 1465 | 4079
5(3.30(3.30 (311 | 25 |8.09 [30.0|10.0 | 100 | 4000 | 1.605 | 21.71 | 1472 | 3379
6|252|253]240| 25 |6.21|22.9| 3.5 | 100 | 2640 | 1.603 | 14.21 | 1477 | 2219
5A 600V
750000
cosp =0. 2 600V
200000
4-39
4-39
U, I P,
v A w
Q
Uy los lee los W, W,
1| 105 4 6.89 | 6.70 | 6.23 1 99.6 | -68.0| 16 | 1.49
2 | 100 4 591 | 558 | 5.27 1 8.0 | -55.8| 16 | 1.49
3 95 4 512 | 4.83 | 4.55 1 66.8 | -44.8| 16 | 149
4 % 4 4.61 | 4.38 | 4.03 1 57.0 | -37.6| 16 | 1.48
5 85 4 4.05 | 3.83 | 3.60 1 48.0 | -30.2| 16 | 148
6 70 4 6.10 | 570 | 540 | 0.5 | 63.3 | -36.3| 8 1.47
7 65 4 542 | 510 | 490 | 05 | 54.6 | -283| 8 1.47
8 60 4 502 | 460 | 45 | 0.5 | 47.3 | -23.0| 8 1.46
9 55 4 457 | 420 | 407 | 0.5 | 40.3 | -17.5| 8 1.46
10 | 50 4 415 | 3.78 | 3.69 | 0.5 | 344 | -128| 8 1.45
1| 45 4 3.62 | 3.40 | 325 | 0.5 | 28.3 | -860| 8 1. 44
R, — R, 1 x75kQ) Ryv| 2 x20kQ
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1
P, U, /U, ?
1 U, /U, U, /U, 2
2 l, A Al,
3 Py W
4 AP, W
AP, = uz(i +L) = 42 Z(L +L) = 19, 992W ~ 20W
R, "R, 75000 © 20000
5 Pow AP,
P, W
P, = Py, - AP, = 505.6 - 20 = 485. 6W
6 Py W
Pow = L5I2R = 1.5 x 6. 607° x 1.49 = 97. 6W
7 P, Py W P,
w P.+P, W
P, =P, +P, = P, - P, =485.6- 97.6 = 383.0W
2
4-40
4-40
Uo Yy ( &)2 lo Pow AP, Py Pocu Py
v Uy Uy A w w w w w
1 420 1.105 1.222 6. 607 505. 6 20.0 485. 6 97.6 388.0
2 400 1.053 1. 108 5.587 | 403.2 18.1 385. 1 69. 8 315.3
3 380 1. 000 1.000 | 4.833 352.0 16. 4 335.6 52.2 283.4
4 360 0. 947 0.898 | 4.340 310. 4 14.7 295.7 41.8 253.9
5 340 0. 895 0.801 | 3.827 284.8 13.1 271.7 32.5 239.2
6 280 0.737 0.543 2. 867 216.0 8.9 207.1 18.1 189.0
7 260 0.684 | 0.468 | 2.570 210. 4 7.7 202.7 14.6 188. 1
8 240 0. 632 0.399 | 2.353 194. 4 6.5 187.9 12.1 175. 8
9 220 0.579 0.335 | 2. 140 182. 4 55 176.9 10.0 166. 9
10 200 0.526 0.277 1.937 172.8 4.5 168.3 8.2 160. 1
11 180 0.474 | 0.224 1.712 157.6 3.7 153.9 6.3 147. 6
380V P, lo Pee Pu Pocu
337W 4. 83A 165W 120W 52W
3 P., P,

ly=f Uy/Uy Py=f U/U,



l,b=f U, P,=f U, P, =f  U,”/10000

4-71
R(W)  I(A)
_ 2
o 5 I(EL)]
N
300 20k
[ |
: |
200 10k i
[ |
P -{/’ i /():f(%i)
100 sk '
I |
|
L |
0 ) S —— | I R |
0 0.5 L (Up 1N Uy Un
4-71
4 Pee P,
1 P.
P, 120W
2 P, =f U, /U, 2 U, /U, =1 P,
285W P,
P, =P,- P, =285-120 = 165 W
5. = I
1 lo=f U, /Uy U, /U, =1 lo 4, 83A
2 P, P, =f U,/U,
U, /U, =1 P, I
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\J
Pe. P R
1. 490
P, =Py + Pygy = Pe + P, +1.51,°R,
=165 +120 + 1.5 x 4.83° x1.49 = 337 W
4-40
4-38 4-42
1 .
4-38
2 P,
4-38
3 Pou
hy R
4-65
25 Oy A6 55K
0, 26 465 6, 55 +26 =81
Pes =1.51,°R K¥by-0+2 9}2 + g; %
235 +81 - 26 +25
=1.5 x 13.78° x 1. 610 x 35 181
=458. 5W
4. Pe.
P.. =165W B
Bl . R,
P, 4-66 U,
Ub
B
1 U l R
P, U=380V I,=13.78A R =1.61Q P, =7710W
P
0S¢ :@jh 1732 ><73781C?x 1378 08
|
286




sing, =/1 - codp = /1 - 0.85° = 0.5266
2 2
Uy, =«/(U' fllacogp) + (é—gllagn¢)

2 2
:J(%-§XB.BX1.61XO.%)+(§><13.78><1.61><0.5266) B
=363. 8V
U, =U,, =363.8V Py=f U, /U, ?

P, =145W
3 U l R
P, U=380V 1,=10.84A R =1.61Q0 P, =5870W
Uy =367.5V
U, =U, =367.5V P,=f U, /U, ?
P, =150W
6 u l, R
P, U=380V |, =6.21A R =1.61Q P, =2640W
Uy =374.3V
U, =U, =374.3V P,=f U, /U, ?
P, =160W
5 P,
P, =120W
6. Pew
1 4-38
4-44 25
K K =225 0,
55K
26 9, =55 +26 =81
+ 0. - -
S g s S BT 0 U g oy
2 4-49
Peo =S P, - Poy - Pe
|
287




288

=0.0327 7710 - 458.5 - 165

=231 7W
7. P,
1 457 P W
P, =P, - P,- Pg +Pgp +Pe +P,
=7710 - 6600 - 458.5 +231.7 + 165 + 120
=134. 8W
4-41
2 T P,
4-42 n=6
4-41
P P T T? T P.T?
1 134.8 18171.0 43.43 1886. 2 35557618 254255
2 110.7 12254.5 38.57 1487.6 2213087 164682
3 88.6 7850.0 32.84 1078.5 1163088 95552
4 70.0 4900. 0 26.33 693. 3 480622 48529
5 48.4 2342.6 21.71 471.3 222146 22812
6 25.1 630.0 14.21 210.9 40773 5068
E=3P, | F=3P G=3T? |H=3T* | I =3P T?
* = 478 = 46148 = 5819 =7677334 = 590898
3 A B
4-58 459 A B
A _nEPT’-3P3IT® _nl-EG
NS T - (3T2)2 nH - G
X - X
-8 : igggg%m“?gsglﬁlg = 0. 062598605
B :%(z P - ASTH= %(E - AG
:% 478 - 0.062598605 x 5819 = 18. 956452
4 r



4-60 r
B NP T?-3SP3T?
JIET - (3 72 TIns PP - (s p)?]
nl - EG
[nH- G1lnF - E]
6 x 590898 - 478 x 5819

= = 0.9%4
/16 x 7677334 - 58197116 x 46148 - 4781
5
r=0.994 B =009
P, = AT’ S P,
A=0. 062598605
P, W 4-42
P, = AT? = 0,062598605 x 43.43° = 118, 1W
8
1 P, W n %
cosg
P, =P, - Pgy +Poy + Py + P, + P,
=7710 - 458.5 + 2317 + 165 + 120 + 118.1
=6617W
n % ::z—j x100% = S22 x 100% = 85.82%
=)
R :Ul = 713 78 30 = %80
2 4-42
442 P,
472

1 L=t P,
2 s=f P,
3 n=f P,
4 cosp =f P,
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4-42
[ Pou Pe P Pz P Py P, n S T
Alw|lw/|w/|w/|w/|WwW/|WwW]| % |csp| % |Nm
1 |13.78|458.5 231.7|118.1| 7710 | 6617 |85.82|0.850 | 3.27 | 43.43
2 [12.40|371.1 186.2 | 93.1 | 6890 | 5955 |86.42 |0.844 | 2.93 | 38.57
3 [10.84|283.2 137.2| 67.5 | 5870 | 5007 |86.83|0.823 | 2.53 | 32.84
165 | 120
4 | 959 |221.6 108.7 | 43.4 | 5050 | 4391 |86.96|0.800 | 2.33 | 26.33
5 | 809 |157.6 68.8 | 29.5 | 4000 | 3459 |86.48|0.751| 1.87 | 21.71
6 |6.21|927 36.4 | 12.6 | 2640 | 2213 |83.84(0.646 | 1.53 | 14.21
P, = Iy P, s n cosp T
Py =5.5kwW 11.52A | 6.35kW | 3.93% | 86.6% | 0.836 |36.1N- m
I4) (%) Pi(kW) cosg 1(%)
25 5 - 09 90f
T
—£ (P
20 4 12 08 8| T (P2)
= (P)
5 3 7 07  sof /“:1"(“)
s
0 2 2 06  75F -
5 1 LI L e B él%PkW
PN(5.5) (kW)
4-72
P, =P, =5. 5kW
71.69N- m
4-42



11. 61A

B C

= Tm(lT) = 113 6(

11. 52A

-1.33% +5%
55K
11.52\2
= 55 x (7) ~ 54K
Adu 11.61
5. 5kwW -
B} 10 x 2 x5.5 =110
1.2 100N- m
3
15s
4-73
A 40N- m/50mm
1mm 0.8N- m
Tt Troc 113.6N- m 122.4N- m
B C U, u, 383V 383.8V
+10%
U, 380

) = 111.83N- m
383

1

(A) = 122.4 3208) = 119.99N- m

2
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70U
390V [T
380V I U=f(n)
370V 7‘
= N
1
" 1BIN\
L/ \
] \
Ngtc \
Ll D \\
|
A¥40N-m
N 5 p(r/min)
4-73 - -

Tow = Toman * Trwow /2 = 115,91 N- m

T, 3.18 T, =9.549P,/n, =9.549 x 5500 + 1440 = 36. 47N

m
D
72.8N- m U, 378.1V
+5%
Tmn
2 2
T, = Tmm(ﬂ) - 72.8(ﬂ) =73.53N- m
U, 378.1
T, 36.47N- m  2.02
132 5, 5KW
5 1m
443
3008 10dB
5dB
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5 8dB
4-43
1 2 3 4 5
Lo dB A 59 60 62 59 60 30
L, 60dB A L, 68dB A
“ " mm/s 6
6 4-44
4-44
1 2 3 4 5 6
mm/s 0.95 0.80 0.75 1.00 0.85 0.95
1. 00mm/s
4-45
1 -
36.47 N- m
2 —_— 11. 6A
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x100% =77. 8%

4-45

2.07

% 100%

= 88-86.6 / 88-86.2

Y132S4 5.5kW 380V 50Hz 11.6A A

B

1440r/min

<
o

=0.38

500

25

-
(=)

1.977

4.83

337

165

120

25

320.5

25

171.8

81.6

858. 9

> 2|g|g|g|2|2|2|>

11.52

28.223

80. 12

79.8

36.1

<7.0

<84

6.88

=22

=1.87

2.20

=2.3

=2.07

3.18

=11

=0.94

2.02

%

=88.0

=86.2

86.6

77.8%

=0.84

=0.81

0. 836

13.3%




% 2.93
K <80 - 54
K 30
K 29
<9 - 45
! 26/39
N-m s|755 15 75.5 15
2500 2500
kv s |1.76 60 1.76 60
2min r/mn 1728 1728
dB A <78 <81 68
mm/s <18 - 1.0
—
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Y160M-4 380V

50Hz 22.6A 1460r/min

A B sl
4-46
4-46
I, P, P, W -
A W Pao
W
Iy | Iy lis W, x20 | W, x10 | W, x40 | W, x40
1 |56.2]56.2|56.0| 0.5 100.0 -59.3 60.1 -14.7 452
2 [49.249.2(49.3| 0.5 78.2 -48.2 56.9 -18.8 338
3 |42.7(42.842.9| 0.5 59.7 -38.0 53.8 -20.2 306
4 |35.0|34.3|34.9| 0.5 41.0 -27.0 51.2 -23.4 215
5 127.9(27.3(27.3| 0.5 26.4 -17.7 48.7 25.7 132
6 [20.0(19.5(19.5| 0.5 13.0 -9.0 46. 8 -27.8 79.2
7| —| = =] = — — 44.7 -30.0 —
R, 0.53260Q
1 I P, P,
2 P,=P,-P,- P,-15,°R
P,
P, =P, - P, - P, - 1L5,°R,
=1816 - 588 - 1407 - 1.5 x 28.1° x 0.5326
=452W
3 4-46



P, =f I, 4-74

Pa(W)
5001

250

010
4-74
P, =f I,
1 IL=./2-1
Py, 28. 73A
8.5A 1 Il
I = JI2- 12 = ./28.73 - 8.5 =27.44A
2 4-74
27. 44A P,  435W
3 P,= 1+2C P, Cc=0.1 P, =1.2P,
P
P, =12P, =12 x435 = 522W
7 P, 447
4-47 S22
1 2 3 4 5 6 7
1Z-12 A 27.44 | 25.02 | 22.10 | 20.10 | 16.86 | 13.61 | 9.64
P, W 435 380 315 272 205 150 7
P, W 522 456 378 326. 4 246 180 92.4
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100kw
Y450L2-10
4-48
0.5%
4-49
4-48
Y450L2-10 10088
1 Py 355kwW
2 Uy 380V
3 fy 50Hz
4 Iy 424. 4A
5 ny 595r/min
6 A —
7 F —
8 Iy 206A
9 P, 8660W
10 P. 1258W
11 2.5l [ 1061. 2A
12 2.5l Uy 183V
13 2.5l Py 144300W
14 R, 0. 0070620
15 S 0. 0103
16 Ps 1775W




4-49

le= P,-P, [/3Uy

1 Ion
= 8660-1258 <+ 3x380 =6.49
2 on 2 2 2 2
lox = /12 - 12, = /2067 - 6.49° =205.9
1
lew =1cUy /U, =1061. 2 x 380 + 183 =2203. 6
I
o P =Pc U,/U, 2=144300x 380 +183 2
2
=622202
PKN
lew =P /3Uy =622202 = 3x380 =545.79
3 |KNR
T = /1 2 - | 2w = /2208, 67 - 545, 79 =2135
4 IKNX
1 K=lgg- log =545.79 - 6.49 =539. 3
2 H=lygy - lox =2135 - 205.9 1929, 1
3 r=0.5 H+K/H

=0.5 1929.1+539.3* +1929.1 =1040

4 = /K?+H? = /539,38 +1929, 1 =2008
5 K, =12R, /U, =2003 x0. 00706 + 380
=80.46
6  tanB=H/K, =1929.1+80.46 =23 98
B=87.61° tan p/2 =0.9592
7 T =3rUgtan g/2
=3 %1040 x 380 x0. 9592
=1137183
8 P,= Py+P,+P, [/ 1-s
= 355000 +1258 +1775
+ 1-0.0103
=361759

=yT/P,=0.9 x1137183 + 361759
=2.829

T =K+ Ty =2.829 x 9. 549 x 355000
+595
=16118
Ty =9.549 x P /ny
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Y
GB/T 20137—2006
1.
GB/T 20137—2006
IEC61972 2002
11—
2—
1 150kW
GB/T 1032—2005
2.
1
0.2 +0. 2%
2 +0.1%
+1r/min
3 +1
3.
1
2 1 +0.5%
+0.5%/ 1-q 2
+0. 1%
1
5
2 1
[ |
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3
6 25%  100% o
4 2 100% 150% §
U f | P, TR
n +0.3% ?
100%
100% 100% 25%
125%
60% 4 100%
50% 20%
3
U, I P,
Ry
1.
BL
2.
1 1
[ |
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306

Bl
0.95
1 f Hz n rls
r/mn p s
s=1- np/f 4-105
2
T N-m n rls P, W
P, = 27Tn 4-106
2 2
4-51 P,
kw
451 4-75
4-75
1
4-51
Py kW kw
<1 0. 025P,
1 <P, <10000 0.025- 0.005l0g, P, P,
=10 000 0. 005P,
3.
1
25
_ 23 +25+6, - 0,
Rs = R, 235 + 0, 4-107
Re— 25 Q
Ry—— Q
Ov—
0.——



4-107

4-61 4-62

DI THEE 4y B3R i £
FAHIRFEPLL/P1) X 100

© 10 100 1000 10000 100000
HE kP (kW)

s =S RJ/R,
25

25

4-108

[E1L0C L/8D

900¢
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5-1

5-1
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380V 50Hz

SRR MU 380V, S0Hz HL SR
5-2
2.
+3%
UZ UlN BU
5-1
- Un
B, = U, 5-1
U, =380V U, =320V B, =380/320
U,, =380V 400V
340V
_ 380 _ 380
By = 380 ~ 323
340 x m
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+3%

YZRW

S3 40%
310



15% 10min
2.
Y
3.
80 +15V
4,
5-1
1 100r/min
2 950 ~1000 r/min
3 aD?
5-1 YZRW
112 | 132 | 160 | 180 | 200 | 225 | 250 280
N- m 7 18 64 | 118 | 170 | 235 | 390 590
N- m 26 64 196 | 245 | 390 | 540 | 785 1180
a? kg 05 | 1.2 | 23 | 50 | 7.5 | 1.5 | 21 35
5.
5-2
5-2 YZRW
F H
40 60
95K 100K
90K 90K
150 150
95 115
6.
5-3 U,
Uz UFN
\Y
7.
5-3 Imin
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5-3 YZRW

MO 0.001U,,
\V; 2U, +1000
MO 0.0025U,
v 4U, +1000
MQ 1
v 2U,,, +1500

8.

1.2

2min 2.5

9.

10.

s 53
ST Y
T
(10min)
s {(min)
N Ir R
BTl
(4min) (1 5min) (4.5min)
5-3 YZRW
1.
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=f n n =100r/min
100r/min
100r/min
QO A W N m
R
R,
PFe Pm
I 5
Ry n
P, Iy
Pos =1.51,°R, Peou
T, N
T, =9.549 P, - P, - P - P, /',
54
e =1y T, = n =100r/min
1250y
Dxbeeeee A _ . I
i 0.751
I
= 1
é L 0.5000y
& i
) 1
T - L— 0.25/my
i
[}
I i
0 100 1000
n(r/min)
54 T,=f n

313




T n =1000r/min

TZX
132kW St
~S7
YZRG YZRF
JB/T 7078-2002
YZRG
YZRF
YZRW
YZR-Z
2 8 A4 S 4
3 40% Y
JB/T 7842—1995
Y
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4

S3
A
Fl =2
55
56 &4

0.5

YZR-Z
ts
3600
T= z
t=T FC

10min

30% Me
Ry

AEE

GDZ
FC %

5-4
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Fl

Fl =

1/3 1
FI. % 5-5

GD% + G

¥ 100%

kg- nt

FI =2~8

25%

0.8

4

kg

55



YREZ YBFZ YBEZX
1 JIB/T7076 - 2002 YEZS

2 JB/T 7562 - 2002 YEZX

3 JB/T7564 - 1994 YREZ

4 JB/T10252 - 2001 YBFZ YBEZX

5-6
YEZX
5-6
5 6
1
2
1 2
3
SA
120 50Hz

YEZS YEZX

YEZ YEZS

25%
1500r/min
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3
5 N

||||||||||--|I|||
4~

) el

T Il -

7/

|”“"""|I|I|‘

|||I|I||||v..||||

8 \f
6
9
56 YEZ
1— 2— 3— 4—
5— 6— 7— 8— 9—
4, 5kW 1380r/min 7. 5kW 1400r/
min 3750r/min Y
90%
3
11 2min
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YEP YEJ

YEP

5-7
JB/T 6448—1992

5-7 YEP

4—

2—

8—

77—

YEJ

5-8
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W

\Xﬁé ||| %%r //th 7

“|||II -|||||H :P ) = 9
I

i

= i
] T T b)
,' = L7 .
I / \
12 11 10
5-8 YEJ
1— 2— 3— 4— 5— 6—
7— 8— 9— 10—
11— 12—

JB/T 6456—1992

Km4 F Vi
2CZ R, R

V2



20kwW

Bl Al
() (b)
5-9
a A b B
5-10
3
5-11 a
F N

D m
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12 13 14 15

./
/4

11 10 9 8 7 6
5-10
1— 2— 3— 4— 5— 6—
7— 8— 9— 10— 11— 12—
13— 14— 15— 16— 17—
D
M
5-6
1
M = =—FD
2
511 b
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M=F L 57
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1s

54
5-12 a S1 N,
1 2
512 b 3
FF4 10kQ 1kQ
10kQ) Y, 1kQ
4 5-12
c 4 14
1 5-12 a

B A AL

R

(@) (b) (©
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Y
3
3 0.5~1h
1s
5-13 U, ]
50Hz
1s/50 =0.02s u, Y
uS
B
A B U 6 t. =6 x0.02s=
0.12s
"
NAANAN 0
AAYAR ;

|

'\/\/\/\%
I —
|
| N

TR RS AT ATV AYATATAVATAYE

A4 B
5-13
YEJ
YEJ
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5-4

5-4 YEJ
80 90 100 112 132 160 180 200 225
m 7.5 15 30 40 75 150 220 300 450
s 0.2 | 025 | 0.3 |03 | 0.4 0.5 0.6 0.7 0.8
50 60 80 110 130 150 150 200 200

326



YCT YCID

YCT YCID
YCT YCID

5-14

YCT JB/T 7123—1993 YCTD

JB/T 6450—1993

4—
5— 6— — 8— 9—
YCT YCID
3
YCT YCID

1min
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1 0. 25MQ

2 YCT 1500V YCTD
1275V
3 YCT 700V YCID 600V
1000r/min
20V 35V
55 YCT YCTD
r/min
YcT YCTD kw N- m ycr YCTD
112-4A 100-4A 0.55 3.6
11248 100-48 0.75 4.9
1230 ~ 125 1250 ~ 100
1304A 1124A 11 7.1
13048 11248 15 9.7
160-4A 1304A 2.2 4.1
160-4B 13048 3 19.2 1300 ~ 100
180-4A 130-4C 4 25.2
200-4A 160-4A 55 3.1 1250 ~ 125
200-4B 160-4B 7.5 47.7
1350 ~ 100
225-4A 180-4A 1 69
22548 180-48 15 o4
250-4A 200-4A 18.5 116
25048 200-4B 2 137 1375 ~ 100
280-4A 2254 30 189 1320 ~ 132
315-4A 250-4A %7 232
1375 ~ 250
31548 250-48 45 2682
355-4A 280-4A 55 344
1340 ~ 440
35548 3154A 75 469 1400 ~ 250
355-4C 31548 %0 564 1340 ~ 600
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1.YCT
YCT

nmn

2. YCTD

100% 25% 50% 75%
- T=f n
My
nTYBX + nmn nmn
5%
T=
nmax
11kwW
nm'n
15 ~ 30kwW
37kW My
2/3
B 80K F 105K
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0V
3%

1.6

15s

2min

oy

— % 515

5-15 600r/min
5-6 +3dB
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57 | JB/T 8658—1997
58 | JB/T 9546—1999 YL
Yw 80
59 | JB5337—1991 a8




YB dll CT4

60 | JB5338—1991 80 315
YASO
61 | JB6200—1992 6 - 90
62 | JB/T 5869—2005 YBZS
YBF
63 | JB 6202—1992 63160
YB—H
64 | JB/T 6455—1992 80 - 280
YA—W YA—WFL
65 | JB6763—1993 80 - 980
1 YB2
66 | JB 7565. 1—2004 63 355
2 YB2—W
67 | JB 7565. 2—2004 YB2—TH YB2—THW YB2—TA YB2—TAW
63 ~ 355
3 YB2—F1
68 | JB 7565.3—2004 YB2—WFL YB2—F2 YB2—WF2
63 ~ 355
4 YB2
69 | JB 7565.4—2004 Exd I CT1 ~ T4 63 ~ 355
5 YB2
70 | JB 7565. 5—2004 63355
YBGB YBGB—W
71 | JB 8671—1997 80 315
72 | JB8672—1997 YBJ
73 | JB 8673—1997 YBI VI
YB
74 | JB 8674—1997 355 400
1
75 | JB 9593. 1—2002 YBK2 100 ~
315
YA 80 ~
76 | JB 9595—1999 280
YB—W YB—TH YB—WTH
77 | JB 9596—1999 80315
78 | JB 6216—2002 P
79 | JB 6217—2005 PB
80 | JB 6262—1993
81 | JB 6762—2004
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400

82 | JB5869—1991 YBZS
2 YB2—W
83 | JB/T 7565. 2—2002 YB2—TH YB2—THW YB2—TA YB2—TAW
63 ~355
84 | JB/T 8670—1997 YBDF2
1 YBK2

85 | JB/T 9593. 1—2002 100 ~ 315

YFB 63
86 | JB/T 10352—2002 365

YBJIY

87 | JB/T 10353. 1—2002 63 ~100
88 | JB/T 50136. 1—1999
89 | JB/T 50136.2—1999

Y-W Y-WF
90 | JB/T 5275—1991 80 ~ 315
91 | JB/T 5803—1991
92 | JB/T 5870—2002 YR
93 | JB/T 5879—1991 YSB
94 | JB/T 6216—1992 P
95 | JB/T 8670—1997 YBDFR2
9 | JB/T 2195—1998 YBF2
97 | JB/T 3699—1992
98 | JB/T 7567—1994
99 | JB/T 7075—2002 YZD
100 | JB/T 7076—2002 YEZS
101 | JB/T 7077—2002 YZRE
102 | JB/T 7078—2002 YZRF YZRG

Y-F 80
103 | JB/T 7124—1993 315
104 | JB/T 56105—1999
105 | JB/T 10104—1999 YZ
106 | JB/T 10105—1999 YR




107 | JB/T 6216—2002 P
108 | JB/T 5797—1991
109 | JB/T 5799—1991
Y-H 1P23
110 | JB/T 5800—1991 160 - 315
111 | JB/T 5801—1991 YZ-H
112 | JB/T 7562—2002 YEZX
113 | JB 7563—1994 YZE
114 | JB 7840—1995 YZRW
115 | JB 7841—1995 \074
116 | JB 7842—1995 YZR-Z
117 | JB/T 10221 - 2000 YZRSW
118 | JB/T 10532 - 2001 YBEZ YBEZX
119 | JB/T 10533 - 2001 YBEZ YBESE
120 | JB/T 10273 - 2001
121 | JB/T 10274 - 2001
122 | JB/T 10275 - 2001
123 | JB/T 10276 - 2001
124 | JB/T 10360 - 2002 Y2
125 | JB/T 56105 - 1999
126 | JB/T 8158—1995 660V
127 | JBIT 3699—1992
YVR2 IP54
128 | JB/T 7118—2004 80 315
129 | CEEIA 133—2003
130 | FZ/T 99001—1991 FYD FYDZ
131 | FZ/T 99001—1991 FO
132 | FZ/T 99001—1991 FW
133 | FZ/T 99001—1991 F®2 Fo
134 | FZ/T 99001—1991 FX
135 | FZ/T 99001—1991 FXD
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402

1 GB/T 9651—1988

2 GB/T 8128—1987

3 JB/T 1010—1991 YU

4 JB/T 1011—1991 YC

5 JB/T 1012—1991 YY

6 JB/T 2663—1999 ADP

7 JB/T 3698—1992

8 JB/T 3758—1996

9 JB/T 4052—1994

10 | JB/T 4269—2002

11 | JB/T 4270—2002

12 | JB/T 4376—2002

13 | JB/T 5887—1991

14 | JB 6201—1992 71{‘31'3(():

15 | JB/T 6737—1993

16 | JB/T 6738—1993

17 | JB/T 7577—1994
YL ~

18 | JB/T 7588—1994 132 8

19 | JB/T 7578—1994

20 | JB/T 7591—1994

21 | JB/T 7614—1994

22 | JB/T 8157—1999

23 | JB/T 8954—1999 YZLP

24 | JB/T 9541—1999

25 | JB/T 9542—1999

26 | JB/T 9547—1999

27 | JB/T 9542—1999

28 | JB/T 8954 - 1999 YZLP-Z
YBDC 71

29 | JB/T 6201 - 1992 ~100

M




403

500V

2kv

15

15

15

b=

Al

¢

@

1.5

N




404

IEC892

IEC 2

10

AU %

1987



U - U,
AU = —™ P % 100%
Up
Uy - U,
AU = —™ "7 100%
Up
— v
U, v
Up—— v
220 215V 210V
AU %
1 U= 220V +215V +210V /3 =215V
2 5V
U, - U .
3 AU = —™ % « 10006 =220-215
U, 215
100% =2. 33%
18%
5%
N
1.0
™~
009
W&
=
&
g 0.8
0.7
0 1 2 3 4 5
R FE (%)
N-1
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406

(@] W, /W, cosp
W, /W, | 0.00 | 0.01 | 0.02 | 0.03 | 0.04 | 0.05 | 0.06 | 0.07 | 0.08 | 0.09 | W,/W,
+0.9{0.996 | 0.997 | 0.998 | 0.999 | 0.999 | 0.999 | 0.999 | 1.000 | 1.000 | 1.000 | +0.9
+0.8{0.982|0.984 | 0.986 | 0.988 | 0.989 | 0.990 | 0.992 | 0.993 | 0.994 | 0.995 | +0.8
+0.7 | 0.956 [ 0.959 | 0.962 | 0.965 | 0.968 | 0.971 | 0.973 | 0.976 | 0.978 | 0.980 | +0.7
+0.6 | 0.918 [ 0.922 [ 0.926 | 0.931 | 0.935 | 0.939 | 0.942 | 0.946 | 0.950 | 0.953 | +0.6
+0.5|0.866 | 0.872 | 0.877 | 0.883 | 0.888 | 0.894 | 0.899 | 0.903 | 0.908 | 0.913 | +0.5
+0.4{0.803 | 0.810 | 0.816 | 0.823 | 0.829 | 0.836 | 0.842 | 0.848 | 0.854 | 0.860 | +0.4
+0.30.731|0.739 | 0.746 | 0.754 | 0.761 | 0.768 | 0.775 | 0.782 | 0.789 | 0.796 | +0.3
+0.2 | 0.655 | 0.662 | 0.670 | 0.678 | 0.686 | 0.693 | 0.701 | 0.709 | 0.716 | 0.720 | +0.2
+0.1|0.577 [ 0.584 | 0.592 | 0.600 | 0.608 | 0.616 | 0.623 | 0.631 | 0.639 | 0.647 | +0.1
+0.0 | 0.500 | 0.508 | 0.515 | 0.523 | 0.530 | 0.538 | 0.553 | 0.553 | 0.561 | 0.569 | +0.0
-0.0 | 0.500 | 0.493 | 0.485 | 0.478 | 0.470 | 0.463 | 0.456 | 0.449 | 0.441 | 0.434 | -0.0
-0.10.429 [ 0.420 | 0.413 | 0.406 | 0.399 | 0.392 | 0.386 | 0.379 | 0.372 | 0.366 | - 0.1
-0.2/0.359 [ 0.353 [ 0.346 | 0.340 | 0.334 | 0.327 | 0.321 | 0.315 | 0.309 | 0.303 | - 0.2
-0.3/0.297 [0.291 | 0.285 | 0.279 | 0.274 | 0.268 | 0.262 | 0.257 | 0.251 | 0.246 | - 0.3
-0.4|0.240 [ 0.235 [ 0.230 | 0.224 | 0.219 | 0.214 | 0.209 | 0.204 | 0.199 | 0.194 | - 0.4
-0.5(0.189 | 0.184 | 0.179 | 0.175 | 0.170 | 0.165 | 0.161 | 0.156 | 0.152 | 0.147 | - 0.5
-0.6|0.143 [ 0.139 | 0.134 | 0.130 | 0.126 | 0.122 | 0.117 | 0.113 | 0.109 | 0.105 | - 0.6
-0.7 | 0.101 [ 0.097 | 0.094 | 0.090 | 0.086 | 0.082 | 0.078 | 0.075 | 0.071 | 0.068 | - 0.7
-0.8|0.064 | 0.060 | 0.057 | 0.054 | 0.050 | 0.047 | 0.043 | 0.040 | 0.037 | 0.034 | - 0.8
-0.9/0.030 [0.027 [ 0.024 | 0.021 | 0.018 | 0.015 | 0.012 | 0.009 | 0.006 | 0.003 | - 0.9
W, /W, | 0.00 | 0.01 | 0.02 | 0.03 | 0.04 | 0.05 | 0.06 | 0.07 | 0.08 | 0.09 | W,/W,

W, =25.5 W, =50 W, /W, =0.51
W, /W, +0.5 W, /W,
0.01 +0.5 0.01 0.872 cosp



W, /W, | W | <W, W /W, £1

P Eh-star

2007

GB/T 1032—2005

P-1
AT R
L1 L2 L3
[ [ [
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1.5 R,
R
1 Y
0.2U
R, = N
3,
2 A
0.2,/3U
R = 0.2./3Uy
Vv
0.2
1
1
1 vV W
0,
2.
1 R, Rips
30%
R . 20%
2
1 Y
t = |i‘ - IcZJ
2 A
o= JI5-121/3
2
1 Y
U = Uy
2 A
Ut = “/gUN
3 R., P-1

R11VW

P-2

ins

P3

P4

P-5

P-6



25% ~ 45% U,
S 2
R, S
4 \Y 1
150% 75% 6
I, 1yl
qu va UWU Puv Pwv n
5
0,
vV W R 5
6 VAR Rivw
1 100%
100%
2 R,
6, 0, R,
_ R, 235 +40,
R = "+ 6, P
7 2
n=n,-2 ng-ny
R., 100%
1
qu = qu P-8
W, - Uiy - U
U. = VW WU uv P'g
wuU 2UUV
U = /Ui - Uy P-10
Uy =- Uy - Uy P-11
U = - Uy P-12
[ |
409




410

I'
v
U
wo_ 2 2
I, = /1% - 17
=2 12151
1_2|2 w ™ lu™ lv
\

2
I'U=k1|'v+«/(ki- L) -
\

2 T
" = kllv - IUI v
u- |"v
IIW:- Ilu' IIv
[T " "
Iw_' Iu' Iv

1
Ljuv = qu +7anw Lv -
1
ng = va +7Ruvw IW
gwu = UWU + 2 Ruvw Iu
vV W
=
a=e
1
!LLps ? QUV + éulvw +
1
!LLns ? QUV + éBWU +
U
1 -5
ips Tge rgLLps
gns = ie‘]%gLLns
V3
giU = st + gns
glv = éz Uips +a gns
QW = anps + agins

P-13

P-14

P-15

P-16

P-17

P-18
P-19

P-20

P-21

pP-22

P-23

P-24

P-25

P-26

P-27

P-28
P-29



UZ
R, = —- P-30
e PFe
P-5 P-6
Bl
U
b= R P31
Y
Ijev = EF: P-32
y,
e = g;“ P-33
liv =1y - ey P-34
hv = Lv - LFeV P-35
Lw = Lw " lrew P-36
-1 2
lps = 37 L +aly +aly P37
-1 2
Lns _? Lu+§hv +§LW P-38
lips Lns 30%
R
Paps =3 Uil ins + Uil "ins P-39
Psps = 3 Ulinslllns + U"inslnlns P_4O
Piom= 1-S Py~ Pyps - Py P-41
k=— 1 P-42
1+ (I'ﬁ)
Iins
P = KPlagm P-43
I:)Lr Iins/It :
I
411




412

P-44



